
Petits : 
Motifs : fleurs
Réponse générale : S
Réponse aux indices : 
1	 Ours
2	 Photo 1382 ou 662 : fleur à 4 pétales
3	 6
4	 Etoile 5 branches
5	 368
6	 Rouge
7	 (les) forges
8	 Colombe

Moyens : 
Réponse générale : 0UN5H31S
Réponse aux indices : 
1	 Oursons
2	 Fish
3	 30
4	 Amina
5	 138/157 3
6	 Ecrevisse
7	 1745=1457
8	 1778-1858 7 + 8 = 15
9	
10	 UH0N3S51

Grands : 
Réponse générale : Paula Roides
Réponse aux indices : 
1	 1953-1924=29 Tom Desavoi et Meli
2	 Poisson=4 Marc Despoints
3	 Yeux Mathieu Fory photo 662
4	 8X12=96 Sarah Vigote
5	 366-157+17=226 Alain Terieur
6	 Triangle=3 Sheila Zizanie
7	 Couteau=-1+2+2-1+2+2+2=8, puis 8-3=5
8	 French : Tatouille
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